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Q1 Choose the correct option for following questwns All the Questlons are
o compulsory and carry equal marks ‘ o
L. Laplace Transform of ¢* sins is
Option A: 1
(s> + 65 +10)
Option B: 1
(s* —65-10) =
Option C: 2 :
(s* =65 +10)
Option D: 1 \
(s? —6s+10)
2. Laplace Traﬁsfonn of ‘{cosZi sin3t} is-
Option A: l_" s s
21s?+41 - s%425] o
Opticn B: 1] 1 SR D0 RS
= S S g
21s241  s2425) 0 o ©
Option C: 1] 5 + 1
21s2425  s2+41
Option D: [ s s ]
g s?+1 57425 _
3. If f(z) is analytic : and equals u(x,y)+1v(x,y) then f'(z)equals
Option A: Ou . 0Ou :
—— l —_—
ox Oy
Option B: ou v
: — I
Nl cx - Ox
Option: C: v ov
; — i
: oy | ox
Option D: o @
ax Oy
4. Find bif (bx® — 3xy? + 3x) + i(3x%y — y3 + 3y) is analytic.
Option A: 3
Option B: ]
Opiion C: -1
Option D: 3

1|Page

2E055FAEAB5384883030BDD2355001 ASA



1 .
>. Inverse Laplace Transform of ——— is
(s=2)%-1

Option A: e 2tsinht
Option B: e?tsint
Option C: etsinht
Option Dt e?tcosht

6. A relation R on set A is defined as iff (a, b) € R < (b, @) € R., Then Relation

is known as ...... ?

Option A: Reflexive
Option B: Transitive
Option C: Symmetric
Option D Equivalence

7. A function in which one element of Domain Set is connected to one elerment

of Co-Domain Set. Said tc be ?

Option A: Surjective
Option R: Bijective
Option C: Injective
Option D: Orthogonal _.

8. IfA={1,2,3} ,4Number of power set Of A
Option A: 1
Option B: 3
Option C: 8
Option D: 6

9. If 8 Persons are chosén from any group, then how many person at least have the same

2 birthday.- .~ - ~ >
Option A: 4 5
Option B: 2
Option C: 3
Option D: 1
10. There are 6 balls in a bag . How many ways 2 balls can be drawn ?

Option A: 10 ‘ |
Option B: 4
Option C: 15
Option D: 12

Q2

Solve any Four out oi Six 5 marks each |

A Find L[(t + sin)?]
]
B Find L [s(s2+9)J .
c Find the constenis «, b, ¢, d, e if f(2) = (ax® + bxy* +3x* + cy* + |
' x) + i(dx?y — 2y® + exy + y) is analytic.
D

what is the least number of persons in a group such that names of at
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least two of them will start with the same English alphabet

Let R be the relation on set of real numbers such that aRb if and onIy if
a-b is an integer. Prove that R is an equivlence relation. »

How many four digit numbers can be formed out of d1g1t 1 2,3 5 7 8 9
if no digit is repeated twice ?

Q3

Solve any Four out of Six 5 marks each

A Evaluate [~ e™* {oos3tmeost) g
[ 4s+12
B Find L7 [0
C Find the analytic function f(z)whose real part is — log(x + yz)
D Provethat AU(BNC) =(AUB)N (AU () G
B LetA={1,2,3,4}and R={ (1,2),(1,3),(33), (3 ,4)}'State the nature
of Relation. Give its Matrix. = :
E In how many different ways can 4 ladies and 6 gentlemen be seated

in 2 row, so thatno two ladies sit together ?

Q4

Solve any Four out of Six - S marks each

—4r -

A Evaluate L[f—z—m—’]& S

B Find L™ { 2 2)6}

c Find the aralytic function f(z) ir terms of z whose real part
isu=x>—3xy? +3x%2-3y* + 1.

D If any 5 numbers are chosen from 1 to 8, Show that the sum of two of
them will be 9. -
If f and g are the functions from the set of integers to the set of integers

E defined by f(x) =2x%+3 and g(x) =3x +2 Find (i)fog (i) gof

-F

Find L {sm t}
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